
FOLDING DOOR

MACHINE GUARDING

88754565 ver. 006 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

KIT 36905330

1/6

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D

https://instructions.online/?id=2345-88754565


Ø10 17 mm 4 mm13

www.troax.com

A
rt

 n
o

: 8
87

54
56

5 
ve

r. 
00

6

Kit 369053302/6

Bag for kit 5330 88695330 Kit Hinge  36904990

Kit Bracket SMF 
36700074

x4

x1
M8x90

x18 x16 x4

x2

x1

x2
M8x35 M6x16 M6x16

Kit Folding Door 36905330

x2

x1

x1x2

x2

x2

x2

x2

x2

x2

x4

x1

x2

x4

x2x1

x4x2
x16

x4 x2

x2
M8x45M8x90

M8

M8

M8

M8

x19
M8

M8

M8

M8x35

Kit Folding Door 36905330

Ø10 17 mm 5 mm

Kit Wheel flexible wall
26510663

x1
M8x35

x2
M8x35

x1
M8x35

x1x2
M8

Kit Plastic Handle 120mm 
36906480

x2
M6x12Hx1



5 mm13

17 mm

A
rt no

: 88754565 ver. 006

www.troax.com 3/6

Kit Hinge

Kit Hinge

Bag for kit 5330 + Kit Folding Door

Kit Hinge  36904990

4

5

7

5 mm13

1 2

Kit Hinge

60x40

80x80

Kit Hinge

3

6



www.troax.com

A
rt

 n
o

: 8
87

54
56

5 
ve

r. 
00

6

Kit 369053304/6

11

8Bag for kit 5330  
+ Kit Folding Door

Bag for kit 5330 + Kit Folding Door + Kit Wheel Flexible Wall

Bag for kit 5330 + Kit Folding Door Bag for kit 5330

5 mm

13

5 mm13

5 mm13

9

10



A
rt no

: 88754565 ver. 006

www.troax.com 5/6

12Bag for kit 5330
+ Kit Folding Door

Kit Bracket SMF

5 mm13

Kit Bracket SMF

5 mm13

13

14

15

Bag for kit 5330 + 
Kit Folding Door + 
Kit Wheel Flexible Wall 
+ Kit Bracket SMF



17 mm

www.troax.com6/6  Kit 36905330

A
rt

 n
o

: 8
87

54
56

5 
ve

r. 
00

6

Bag for kit 5330 +
Kit Folding Door

Bag for kit 5330 +
Kit Folding Door

16

17

18

19

20

21

22

4 mm5 mm13

4 mm5 mm13


